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Questions

Complete each of the following:-

1) The point (5, -3) liesin ... ... ... ...... quadrant.

2YIf (%% 5, 8 )= {1 . 6y ¥X) Hen ¥= v vnnnn g ¥B svmsanna

3)FNX)=5n(XxY)=15thenn (Y)= oo

4) The point (4, 0) lieson ........... axis.

DYIf(D ,x-7)=(y+1,-B)thenx+y=.............

BYHXx X =4(1,8) 01,702 ,3); (2,7);(@,9),3,
thehn X = wossseese ¥ 2 sosssss:

7)IFf(x)=5x-7thenf(3)= ............

8)IFf(x)=6xthenf(2)+f(-2)= .............

9) Functionf: R —» R such thatf (x) = 3 x represented by a straight line
passes through the point (-4, .............)

10) The linear function f(x) = x + 7 is represented by a straight line cuts
X —axis atthe point ...... ... ... ..

11) The linear function f (x) = x + 7 is represented by a straight line
cuts X- axis at the point ... ... ... ...

12) The linear function f (x) = 2 x- 1 is represented by a straight line
cuts y — axis at the point ... ... ... ...

13) If the point (a , 3) lies on the straight line which represents the
functionf: R - R where f(x) = x-5thena= ......... ...

o Mid-Term- First Term Algebra




14)Iff(X)=x-6 and%f(a) =-2 thena= .............

19)IfX={1,3,5},f: X—>Randf(x)=2x + 1 then the range of
f= .

16) The linear function f(x) = 2-3x is represented by a straight line cuts

Y —axis atthe point ... ...........

17) If fis function where f: X —» Y then X is called ... ... ... and Y is

called . s v

18) If f is function from set X to set Y then the range of function f C :

19) f is a function where f(x) = 3x — 1 is represented graphically by a

line passes through point(a , 2)thena= ............

200 (2,-4)ef(xX)wheref(x)=kx +8thenk=............

Choose the correct answer from those given:-

NIEnxH=9 ,thenn(X)=.............

a) 3 b) 6 c) 18 d) 81
2) The point (-3, 4) liesin ... ... ... .... Quadrant.
a) first b) second c) third d) fourth

3)X={5,6,7}thenn(X)= . ocovioo. ...

a)3 b) 6 c)9 d) 12

Mid-Term- First Term o
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4)of Xx Y {{(1,3),(1,4)}thenn(X)}= .............

a) 3 b) 1 c)4 d) 2
5) If X = {5} Y = {3} then n (X x Y)

a) 15 b) 8 €) 2 d) 1

B)IfX={3,5, 7}andR is a relation on X then the relation which

represents a functionis .............
a)R={(3,5),(5,3),(3,7)} b)R={(3,5),(5,7)
c)R={3,5).(6.5),(7,5) dR={3,3),(3,%),(3,7)}
7) If the point (x, 7) lieson Y = axis then 5x + 1= ... ... ..
a) zero b) 1 c)5 d)6
8) If R is a function from set X to set Y where

X={2,5,8},Y={3 5}andR={(2,3),(5,3), (x,3)} then x

a) 2 b) 3 c)5 d)-8

9) If R is a function where R = {(4, 3) (56, 6), (9, 3)} then the range of

the function R is ... ... ...
a){3,4,5,6,9} b){4,5, 9}

c){3,6,9} d) {3, 9}

o Mid-Term- First Term Algebra



10) If f (x) = 7x—%thenf(§)=
a)7 b)% c)g d)3

1M IFfx)=4x+bf(3)=15thenb= ... ..
a)156 b) 3 c)4 d) -3

12) If (m , 13) satisfies the function fwhere f(x) = 3x + 4 thenm = ___.
a)6 b) -6 c)3 d) -3

13) If (2 , b ) satisfies the function fwhere f(x) =3x -6 ,thenb= ........
a) Zero b) 7 c)9 d) 2

14) Iff(x) = x2+ 7 thenf(3)= ...... ...
a) 10 b) 7 c)9 d) 16

15)IFf (x)=x"thenf(2)+f(-2) = .........
a) 16 b) Zero c)-7 d) 4

16) if (2 , -6) satisfies the function f where f(x) = k x + 8 then k= ...
a)-16 b) 7 c)-7 d) 2

17) The function f, where f (x) = b x is represented graphically by a
straight line passes through the point... ..

a) (5, 9) b) (0, 0) c) (0, 9) d) (5, 0)

Mid-Term- First Term o
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18) If f (x) = 5x + 4 is represented graphically by a straight line passes
through the point (3, b)thenb =... ...

a) 5 b) 4 c)3 d) 19

19) If the function f is a function from set X to set Y then the domain of

the functionis ... ... ... ..
a) X b)Y C)XXxY d)Yx X

Answer the following questions:-

NIEX={0,1,2,3,4,5,6}andR is a relation on X where aRb

means "a is twice b"foralla,be X.,a+Db.

a) Write R and represent it by an arrow diagram.
b)Is(0,0)eR?

c)ls 2R4 ?

d) Find x If 6Rx

2)IfTX={2,4,8},Y={4,6,12, 24}, and R is a relation from X to Y
such that aRb means "b > 2a"foralla € X, b €Y, write R and

represent it by an arrow diagram and by a Cartesian diagram.

NIFX={13,14 ,43 , 84}, and R is a relation on X such that aRb
means "two numbers a and b have the same unit digit" for alla , b,

€ X. write R and represent it on a lattice.

° Mid-Term- First Term Algebra



HiftX={2,3,4,7},Y={1,23,4,7,8}andR isa relation from X
to Y where aRb means "a -b is a prime number" foralla € X, b€ Y

an arrow diagram.

5)IfX={0,1,2,3},Y={3,-2,-1,0}and R is a relation from Xto Y
where aRb means "a is additive —inverse of b" forallae X , b e Y,

write R and represent it by an arrow diagram and graphically. It R ia

a function? Why?

B)IfTX={2,5,8},Y={10, 16, 24 , 30} and R is a relation from X to
Y foralla € X, b € Y where "a is factor of b" write R and represent it

by an arrow diagram. Is R a function? Why?

NIfEX={1,3,4,5},Y={1,2,3,4,5,6}andR is a relation from X
to Y where aRbmeans"a+b=7"foralla € X, b €Y, write and
represent it by an arrow diagram and by a Cartesian diagram, show

that R is a function? Write its domain and its range.

8)IfX={2,3,4},Y={3,4,5,6,7,8}andf X - Y where f(x) = 9-
x find the images of the elements of x and represent it by an arrow

diagram.

NIfEX={1,3,5andR is a relation on X where R={(a, 3),(b, 1),

(1, 5)} then find the numerical value of the expression a + b.

10) Graph the function f where f(x) = 4 — x? in the interval [-3 , 3], from
the graph determine:
First : The coordinates of the maximum value of function.

Second : The equation of the axis of symmetry.

Mid-Term- First Term o
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11) Graph the function f , where f(x) = x (6-x) + 4 in the interval [-1, 7].
12) Represent the following linear functions graphically. f(x) = 3x + 1

13) If the straight line which represents the function f: R —» R, where
f(x) = 6x — a cuts Y — axis at the point (b, 3) then find the value of a
and b

14)IfX={3,4,5,10,13},Y={4,6,7,8,9,19,25} andR isa
relation from X to Y such aRb means"b=2a - 1"foralla € X and
bey. a) Write R

b) Represent R by a Cartesian diagram.
¢) Find the value of x if (x , 9) € R.

19)IfTX={3,5,7,9},Y={a:a€e N, 10 <a < 50} andR is relation
from X to Y, where R ={(3, 15), (5, 25), (7, 35) (9, 45)} . write
the rule of R.

1B6)IfX={1,2,3},Y={1,3,6,9,13}and R is a relation from X to
Y where means " a = % b" foralla € X, b € Y. write R and show

that it is a function, write its range.

17) If functionf={(1,3),(2,5),(3,7),(4,9), (5, 11)}.
a) Write each of domain and range of f.
b) write the rule of the function f.

18) Iff: R —» R is represented by a straight line cuts Y-axis at (b, 3)

where f(x) = 6x — a find value of 2a + 7h.

o Mid-Term- First Term Algebra




19) Find the value of x if 2= = 2
+1 3

20) Find the value of x if (2x+ 3) : (9x -3)=6:5

21) Find the number which if added to the two terms of ratio 7 : 11

itwillbe 2:3

22) Two integers the ratio between them is 3 : 7 and if subtracted 5

from each terms the ratio between them because 1 : 3 find the two

numbers.

Mid-Term- First Term o
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Model Answers

Complete each of the following:-

1)4>

2)X=-4 Y=2
3)n(y)=3

4) X — axis

5)X+Y=2
6)X={1,2,3},Y={5,7}
7)f(3)=8

8) Zero.

9)b=1

10) (-4 , -12)
1) (-7, 0)
12) (0, -1)

13)a=28

14) a = zero.

15) Range ={3, 7 11}.
16) (9., 2)

17) Domain , Codomain.
18)Y

19)a =1

20) K = -7

o Mid-Term- First Term Algebra




Choose the correct answer from those given:-
1) a

2) b

14) d
15) b
16) ¢
17) b
18) d
19) a

Mid-Term- First Term
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Answer the following questions:-

X Y

1) a)R={4,2),(6,3)) o0 =—t—tf=e 0
b) (0,0) ¢ R .1 .1
c)(2.4)¢R o2 /-2

4 *4

a5 ®5

6 e 6

2)R={(2,6),(2,12),(2,24),(4,12),(4,24), (8, 24)}

Y

Y
X
e 4 -
L bkt
12 p 3
12
6 P
24
4I
| 1
[ ry Ll ]
| 2 4 8 X

o Mid-Term- First Term Algebra



3)R = {(13, 13), (13, 43) , (14, 14), (14, 84), (43, 13), (43 , 43),
(84 , 14), (84 , 84)).

Y
|
84 p X%
43 P
14 F
13
A 1 ] a
13 14 43 84 X

HR={E.1),4.1).,(,2),(7.,2),7.,4),4,2)}

5)R={(0,0),(1,-1),(2,-2),(3,-3) }, yes.

Mid-Term- First Term e
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6)R ={(2,10),(2, 16), (2, 24),(2,24),(2,30), (5, 10), (5, 30),
(8 ,16), (8, 24)} No

7YR={1,6),(3,4),(4,3), (5, 2)}, Risa function from X —» Y
range={6,4, 3, 2}

8)f(2)=9-2=7
f(3)=9-3=6
f(4)=9-4=5

f={27),(3,6) (4, 95)}.

9)R={(5,3).3,1),(1,9)}

a=>5 b=3 ~a+b=28

e Mid-Term- First Term Algebra



10) f(x) = 4 — X

Co-ordinate of max value (0, 4)

Equation of the axis of symmetry x = 0

Maximum value = 4

Mid-Term- First Term
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11)f(X)=x (6 —X)+ 4 = 6x—x%+ 4 do it you self.
12) a)f(x) = 3x + 1

BYT(0) = <3+ 1 =2

) 1) =34 1 =4

represent it by you self.

13) f(x)=6x-a

 The 5 line cats y-axis at (b, 3), then b =0 (0, 3) satis fies the
equation of the s line.

f(0)=6 (0)—a =3 —-a=3 —a=-3

14) a)R={(3,9),(4,7),(5,9),(10,19), (13, 25)}
b)w b=2a-1
5 Gy == =10 = X=5
18) R ={(3,19),(5,25),(7,35),(9, 49)}
y 4 N Sy
3x6=15 bBx56=25 7x5=35 9x5=45
The rule of R is b = ba

16) R={(1,3),(2,6),(3,9)}, it's a function , range = {3, 6, 9}.

e Mid-Term- First Term Algebra



17)a)domain={1,2,3,4,5}, Range={3,5,7,9, 11}
(1,3) (2,9) (3,7) (4,9) (5, 11)
v N ¥ ¥ v
1x2+1=3 2X2+1=5 IX2+1=7 4x2+1=9 5x2+1=11

The rule of the function is 2a + 1

18)(56,3) - b=0 = (0,3) f(x)=6x-a= 3=6(0)—-a
=-3 the value of 2a + 71b = 2(-3) + 7(0) = -6

19) 3(x+7) = 2(x+11)
3x+ 21 =2%+ 22
X=1
20) 10 X + 15 = 54 X — 18
44 X = 33 ax:%

T

21) X =2
st 3

21+3X =22+ 2X
X=1

22) let the first no 3X , let the second number 7X

3x—5
i

X =15=JK=~3

1
3

X=5
The first no.=3x 5=15

The second no.=7x 5= 35

Mid-Term- First Term e
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